novotechnik

TEX & 518
HEAMBERSE, BAK, whMAF
TIEEFET% 300 mm, FHIPZEZR IP 54

Rkt A e, &
e, RETKXREZH,
AR T, ATLVRR
R F R A
HIE B /DR T RIBLBK . &
ZUHLAE DA L ik B b T 38

BEREE, DAk M 1R B )
fle RS B AR R T £ M8
Seuitera / i g .

HeRB LRSS, el
AL BRI 22 e 55 &

TE A %5 Y 2R A v ) LA TEX 7= ekt
S AT B =R T 1) Bk
LE)p
o LR
o [Py IP 54
o ke, PEBALZIT, &k 100x10° Ris )
o SPERMET 0.01 mm :
o &HEHRSE, 35 £0.05% =2 —
o LB AT % P SR il * % T
o it LB B A S HE 2 75 AT B A T (1.4308), ATHER:, M5 SMBLL
o N IP 67 P25, IS W TX2 =5 Bkt Wk R
i L7 O Sk
AL T e I8 2 A
A 3 5 MBx [l 5 J:

3% PUR BRlcSE, 8x0.14mm®, K 2 K8k 5 %




novotechnik

M5

If ﬂM1O
|

=

w0 16

S
3.8
16

] | ~
|
' B CHEHU : 5 Nm
P18

36103
50 04

®
®
M
|
13
255

—A

7.5

®18

?8

i/
9,
Al

1 1
__ _@_ e
T | T
M5x20
DIN EN ISO 4762 16

$9.8

12,5

M5

16




novotechnik

BEEN TEX TEX TEX TEX TEX TEX TEX TEX TEX TEX TEX
0010 0025 0050 0075 0100 0125 0150 0175 0200 0250 0300
BESH BT
AR 10 25 50 75 100 125 150 175 200 250 300 mm
AT 12 27 52 77 102 130 155 180 205 255 305 mm
e BiL A 1 1 2 3 4 5 6 7 8 10 12 kQ
B 2 7% 20 +%
S P 0.25 0.2 0.1 0.1 0.1 0.05 0.05 0.05 0.05 0.05 0.05 +%
Ak 0.01 mm
T AR L <1 LA
St i i 45 KL TR 10 mA
ek foiF TAEHLE 42 \
i HH VL S N HRL PRI 80 R i 5 ppm/K
#a % BLHt (500 VDC) >10 MQ
Hu%k3 JiE (500 VAC, 50 Hz) <100 A
HHSH
Shsete e (RFA) 63 78 103 128 153 194 219 244 269 319 369 +2mm
AR (RS B) 14 29 54 79 104 132 157 182 207 257 307 +2mm
Excess & (R D) 41 41 41 41 4 38 38 +2mm
i
LGS TEX-____- 41_- 002-202 77 82 92 102 112 152 162 172 182 202 222 g
il TEX-____- 41_- 002-101 45 50 60 70 80 120 130 140 150 170 190 g
HAty & X H 10 g
TAEZh
KT 1) < 8.0 ({£ RT = 20°Cltt) N
MESH
AR R -40 ... +85 °C
bidrAbriE 5 ... 2000 Hz
A= 0.75 mm
A= 20 9
b dibrie 50 g
6 ms
F iy it >100 x 10° w®
B KBTI 10 m/s
55 4124 4k IP54 DIN EN 60529




novotechnik

1T AR A& 5 AR msEn
002: £k
HSERE
101: 3 & M8x1 [l 43, Hikm it
202: NT brifk 2 KHL8E, i f
205: NT hrifi: 5 kML, Famdm il
302: NT hrifk 2 KHLEE, il
305: NT #rif 5k HL4E, g i
T E X 0 1 5 0 4 1 0 2 2 0 2
E2 ] W REE
1: [#E
8: Xt 2z M10 A\ HEE (150 mm )
HUIE N
10 AR RS IR BRI M5 B2k
PR ER
4: HIRRLAT
IEEEEE
0010mm % 0300mm, A~ [l by ik K Jis
O BB TS
%S 101 %75 202, 205, 302, 305 EEM 33-64 /-66 / -68 / -65 / -67 / -69
1 EH 1 kita (i)
Jm]L 4 SR s
L 4 3 G e
262 .,
L P
EEM 33-64 EEM 33-65
HERY EENBEE 23
PUR H.45, 4 3 £ M8x1 M B3k 2 AT BB Rl 3% e AT U IR AL IR
3x0.34mm?, P67, Aisbtil (& 44 MBx20 1247 ) IR-2 35 5 IR R AF I8 3l 5 1)
2okHLSE, WS EEM33-64, FtE4mS: 005617 7 T ) ) A A R S R T
5kMH4, ME. EEM33-66, FEih4ns: 005619 HRRERE RS MAP ..,
10 K40, HS. EEM33-68, Fi4ns: 005643 5S4 MUP ... / MUK ... EEER
TAEHLIE 24V, HRdEIE S5 o ‘
. ‘ f e e T T L
PUR L8, #F 3 £ M8x1 M ffizk P , .
, A, BRERPENE. HUON TR
3x0.34mm*, P67, A tibtili S v oH
L . T BELAEE A1 23 TR 2 R TR R 3 B
o kHids, TWE. EEM 33-65, FEih4nE: 005618 o N
o o o Bl RIGESTIEEUBR
5kmids, M. EEM33-67, FEh4is: 005620 A
10 kHLZE, S, EEM 33-69, P i%iS: 005644 ' '

FLA 1 FR HL B AT S il

BReg ek Z-301-M5/M5, =% : 058002

BRIR Az Z-GO1, 7™ igm's: 056014

{558 d MUP_ _ _

FEEh i R, L R ASAR Sk
(le <1 pA) M&EHEHT.

AR, BARITEM
4



